
mean sigma = 21.458

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 22.718

0    4    8    12    16    20    0
-100

-50

0

50

100

103km

Monthly averaged wind velocity by MF radar at Tromsoe for August 2007

North East

mean sigma = 23.033

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 26.676

0    4    8    12    16    20    0
-100

-50

0

50

100

100km

mean sigma = 22.526

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 24.372

0    4    8    12    16    20    0
-100

-50

0

50

100

97km

mean sigma = 20.561
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mean sigma = 19.857
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mean sigma = 19.611
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mean sigma = 15.878
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mean sigma = 13.763

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 16.153

0    4    8    12    16    20    0
-100

-50

0

50

100

79km

Monthly averaged wind velocity by MF radar at Tromsoe for August 2007

North East

mean sigma = 11.507
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mean sigma = 9.288
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mean sigma = 7.590

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 7.810

0    4    8    12    16    20    0
-100

-50

0

50

100

64km


